[1]

(1)

(2)

(3)

(4)

(5)

(6)

(7)

202541 PRI (NEHEEAGD (] slbaiied

ROZEHIZEZ X

HRX - 1V2x-1+1=0 OEEMHE %KD X

x D 2 REK y=2"+2ax+2d"—a—6 DY T 7 DOTEEDE 3 LRIZH
HEI)BRER o #ROKX. 72720, SLBIXEERE & F RV,

1 oA aa% 4 BT %, 3 OBEOED b BB L5EEE p,
ELT, pp DEAMEZRD L.

xy P Eo 3 5 (3, 2), (0, 1), (=1, 4 Z@E5MOPLOEEEELE

FEERD L.

0=x<2ntk35. B y=sin —J3cosx Bl KERBEED

n
r+—
3

x DEZRD L.

REER log,(x—1) =log, (xr+5) +logy/3 %A,

9

R EROR LTS b A, “?+1i EAEE L

4 4




[2] 0oA=2 0OB=3, ZAOB=60° TH5 AOAB OFE [ % H, EL% G &7
%. OA=a, OB=b & LT, ROKMNIZEZ L.
(1) Wi a-b 2Rk L.

(2) W AH L3 OB LK% C &322 %, AC % a b #HVTHE
&,

(3) VMU OAGD 2V FATIUBIEIC A X912 D 20, A% AD &
OB EDOXE%E E £3T5HLX, #4 OE ORI ZRD L.

(4) LG o AB ~NEHREG| X, ZOEMED AB LOXKEE F L
4. AF=kAB L LT, k Offixko k.



[3] BI% f(x) = 1+x)%e " I22WT, ROZFMVIZEZR L.
1) B f(x) o757 ko (-2, £(-2)) 2B 5RO TERERD
k.

(2) B f(x) ® 0=x=2 IZBTAHRAKMEELER/MEZ KD XK. LEIFDI
X, 27<e<28 THAHZ e HWT I W,

) flx) OAERD %KD L.

(4) gla)=0-x)%" £32LE 0=x=<1 OHPHT 2 >OM# y=1(x),
y=g(x), BLOERH =1 THIINZHEOHEZ KD X.



